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1-If you have time, let’s go shopping and buy some vegetables and two loaves of bread, ...?

1) don’t we 2) will you
3) do you 4) shall we
2-1 think that none of us can eat the food of the restaurant, ...?
1)don’t 1 2) can’t we

3) can we 4)canl

3-We have to do something and we have to do it ASAP, as during banking crises, economic activity
suffers, and ... .

1) so does the government’s fiscal position 2) does the government’s fiscal position so

3) the government’s fiscal position neither 4) the government’s fiscal position either
4-A:“Seldom have I read a book with such a powerful message.”

L

1) I have, too 2) But I haven’t

3) So have I 4) I haven’t either
5-Personal life shouldn’t stop just because we are dealing with influenza symptoms, ... .

1) neither our working life should 2) neither should our working life

3) either our working life should 4) our working life should either
6-What an exhausting day it was! I’d better go to sleep right now, ...?

1) didn’t 1 2) wouldn’t I

3) hadn’t I 4) wasn’t it

7-1 haven’t felt very motivated at work since they decided to increase the number of hours we must
work, and ... .

1) my colleagues too 2) neither do my colleagues
3) so have my colleagues 4) my colleagues haven’t either
8-In the evenings, my husband likes to watch films, ... . I prefer documentaries, so we have bought a
second television set.
1)and so am I 2) but I don’t
3) and nor am | 4) and I don’t either
9-1t would have been a more tactful decision to leave them alone when they told us to have a break, ... ?
1) wouldn’t it 2) didn’t they
3) hasn’t it 4) haven’t they

10-As far as 1 know Jim, and according to what his mum told about him, he hates football and never
playsit,...7
1) didn’t she 2) does he
3) did she 4 don’tl a

11-Council members will try to ... parking problems on High Street, which have led to complaints
about traffic congestion.
1) revive 2) rehearse
3) resolve 4) revoke

12-For many young singers struggling to get noticed, this online social media platform offers a/an ...
option for self-promotion.
1) abnormal 2) viable
3) tragic 4) simultaneous

13-The mind is like 2 muscle that becomes stronger through continual exercise, so the mental exercise
caused by ... makes your mind stronger and stronger
1) perception 2) courage
3) poison 4) curiosity

14-1 like wearing different Kinds of clothes made of wool, but my mother and sister cannot ... the
scratchiness of it on their skin.
1) originate 2) explore
3) tolerate 4) sniff

15-1 reserve the right to live ..., to be a little reckless, and to make a few mistakes, as long as I learn
from them.
1) passionately 2) particularly
3) precisely 4) notably
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16-If you feel that you are not able to manage your time effectively, you should learn how to ... your

tasks.
1) attribute 2) prioritize
3) revolutionize 4) compensate

17-During our first few years of life, our brain makes more connections than it needs, and then
eventually ... some of those away.
1) prunes 2) encounters
3) captures 4) aggravates

18-My English professor was a/an ... old guy who could recite every line of Shakespeare by heart, but
could never remember where he put his glasses, or what any of our names were.
1) amateur 2) irritable
3) eccentric 4) grumbling

19-At the end of the bloody war which claimed so many lives, the winning Japanese soldiers began to
divide the ... .

1) spoils 2) hosts
3) inheritances 4) votes
20-Because Spanish is not his first language, the immigrant had difficulties with ... and rolling his /r/
sounds.
1) accumulation 2) association
3) assumption 4) articulation

21-Economic progress and delivery of social services, such as healthcare and education, also depend
on the success of the efforts to ... rampant corruption.
1) reinforce 2) accompany
3) curb 4) intimidate

22-The behavioral result is that activation in this pathway is thought to ... top-down goal-oriented
behavior and thereby simultaneously suppress alternative non-goal-oriented behaviors.

1) facilitate 2) mount
3) imbibe 4) allocate
23-1t is worth mentioning that many people who were adopted as babies have no desire to meet their
... parents.
1) ancient 2) present
3) biological 4) deliberate

24-This particular technique had been presented by the surgeon to the media as a/an ... in treatment
for the condition.
1) motion 2) evidence
3) breakthrough 4) inclination
25-Their collective urban health reform efforts included improving water supply and ... system, as
well as people’s general health.
1) demand 2) imitation
3) scheme 4) sewage
26-
1) People who organizing the exam will provide you with a pencil and an eraser.
2) People organize the exam and will provide you by a pencil and an eraser.
3) The people organizing the exam will provide you with a pencil and an eraser.
4) The people are organizing the exam will provide you by a pencil and an eraser.
27-
1) While his first year as President, he had managed to accomplish many more than his predecessor has
in the five previous.
2) During his first year as President, he managed to accomplish a lot more than his predecessor had in the
previous five.
3) During his first year as President, he managed to accomplish a lot more than his predecessor has in the
five previous.
4) While his first year as President, he managed to accomplish many more than his predecessor had in the
previous five.
28-
1) Private owners of car hit the hardest when tax on petrol was increased.
2) Private car owners hit the hardest because of tax on petrol was increased.
3) Private car owners were hit the hardest when tax on petrol was increased.
4) Private owners of car were hit the hardest because of tax on petrol was increased.
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29-

1) To the customs officer visitors to the country required to declare prohibited or restricted goods.

2) Prohibited or restricted goods by the visitors to the country is required to declare to the customs
officer.

3) Declaring prohibited or restricted goods to the customs officer by the visitors to the country required.
4) Visitors to the country are required to declare prohibited or restricted goods to the customs officer.

30-

31-

32-

33-

34-

36-

37-

39-

40-

1) Attendance at all classes is compulsory, otherwise you may not get a certificate at the end of the
course.
2) Otherwise you may not get a certificate at the end of the course, attendance at all classes is
compulsorily.
3) You may not get a certificate at the end of the course, although attendance at all classes is compulsory.
4) A certificate at the end of the course is compulsorily; therefore, you may not get attendance at all
classes.

A: James, your eyes look swollen. What happened?

B: I...(31)... last night.

A: Did you have something ...(32)...? You look so concerned. Maybe I can help you.

B: Well, I'm under a lot of pressure. My boss is very ...(33)... . He has assigned me three projects.

A: Is there anything I can do to help you?

B: Well, I guess no one can help me but myself. ...(34)..., I just need someone to talk to, so that I can
relieve my stress.

1) didn’t sleep a wink 2) kept my eyes peeled
3) couldn’t stay awake 4) saw eve to eve

1) in your pocket 2) on your mind

3)not at all 4) above all

1) pushy 2) perfect

3) casual 4) frank

1) At the last moment 2) Any moment

3) In a moment 4) For the moment

A: I’ve heard Mr. Lawson finally found out who had intentionally broken the window and
suspended them.

B: ...(35)... . They were asking for trouble.

1) It serves them right 2) It beats me

3) Just my luck 4) Seize the day

A: I caught Sam making personal phone calls on the job again.

B: ...(36)...! I'm firing him right now.

A: Wait! You can’t ...(37)... now. He’s in a desperate need for money.

B: Don’t tell me he’s ...(38)... again!

1) You can say that again 2) Those were the days
3) That does it 4) That makes two of us
1) give him the axe 2) cross his path

3) take him for granted 4) promise him the moon
1) in the dark 2) out of his mind

3) out of shape 4) in the red

A: Mary, how’s that project you are working on coming along?

B: ...(39)..., but the difficult part will be next week.

1) Good old days 2) So far, so good

3) Mark my words 4) Sooner or later

A: He’s really a nice person and I think making him redundant is not fair.

B: We all like him for sure but that’s just ...(40)... . We need to downsize our workforce.
1) beside the point 2) behind bars

3) below par 4) beneath contempt
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Hiking is one of the best exercises for the body, and few other physical activities ...(41)... . Whether
it is a beginner course through low hills, ...(42)... a multi-day trek in steep mountains, hiking is a
great way to burn calories and ...(43)... the spirit. The endorphins released during a hike give a
natural high that is well worth the preparation and ...(44)... effort.

People can condition their bodies for a hike by using exercise machines or by running. ...(45)...
also, of course, the option of going on actual hikes to train one’s body and mind. An area with low
elevation or with trails that are not too steep are good places ...(46)... . To keep up stamina and
...(47)..., bring a pack with high energy foods and water. Sunglasses, sunscreen, a hat, and even
measures to prevent blisters on the feet all contribute ...(48)... an enjoyable experience. Taking
along a music player ...(49)... since nature provides her own soundtrack and since one of the
purposes of hiking is to ...(50)... with the natural world.

Going on a solo hike provides time to think about oneself. For longer hikes ...(51)... several days,
it is probably best to go with at least one other person. The necessary gear, like food, water, and
sleeping ...(52)..., is not easy to carry alone. Also, ...(53)..., there is someone else there to get help.
Hiking provides a/an ...(54)... to meet new people and spend time with close friends. There are many
hiking groups all over the world ...(55)... and also supply you with information on the best places to

go.

1) to match it 2) it can match 3) can match it 4) it’s matched

1) and 2) but 3)so 4) or

1) lift 2) break 3) rise 4) grow

1) artificial 2) strenuous 3) sequential 4) numerous

1) There is 2) Being 3) What is 4)Itis

1) starting 2) to start 3) started 4) start

1) ingredient 2) modesty 3) alliance 4) endurance

1) with 2) on 3)to 4)in

1) recommends 2) doesn’t recommend  3) is recommended 4) isn’t recommended
1) commune 2) resolve 3) wander 4) aggravate

1) it spans 2) which span it 3) that span 4) span

1) consequence 2) equipment 3) disorder 4) tablet

1) just in the unthinkable case happens 2) in the case just happens unthinkable

3) the unthinkable case just happens in 4) just in case the unthinkable happens

1) remedy 2) opportunity 3) illusion 4) contrast

1) that can give advice ~ 2) giving an advice 3) given advice 4) to give an advice
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PASSAGE 1.

Galaxies are the major building blocks of the universe. A galaxy is a giant family of many millions of
stars, and it is held together by its own gravitational field. Most of the material in the universe is
organized into galaxies of stars, together with gas and dust.

There are three main types of galaxies: spiral, elliptical, and irregular. The Milky Way is a spiral
galaxy: a flat disk of stars with two spiral arms emerging from its central nucleus. About one quarter
of all galaxies have this shape. Spiral galaxies are well supplied with the interstellar gas in which new
stars form; as the rotating spiral pattern sweeps around the galaxy, it compresses gas and dust,
triggering the formation of bright young stars in its form. The elliptical galaxies have a symmetrical
elliptical or spherical shape with no obvious structure. Most of their member stars are very old, and
since ellipticals are devoid of interstellar gas, no new stars are forming in them. The biggest and
brightest galaxies in the universe are elliptical with masses of about 10 times that of the sun; these
giants may frequently be sources of strong radio emission, in which case they are called radio
galaxies. About two-thirds of all galaxies are elliptical. Irregular galaxies comprise about one-tenth
of all galaxies and they come in many subclasses.

Measurement in space is quite different from measurement on earth. Some terrestrial distances
can be expressed as intervals of time: the time to fly from one continent to another or the time it
takes to drive to work, for example. By comparison with these familiar yardsticks, the distances to
the galaxies are incomprehensibly large distances that light travels in one year. On such a scale, the
nearest giant spiral galaxy, the Andromeda galaxy, is two million light years away. The most distant
luminous objects seen by telescopes are probably ten thousand million light years away. Their light
was nearly halfway here before the earth was even formed. The light from the nearby Virgo galaxy
set out when reptiles still dominated the animal world.
56-What does the second paragraph mainly discuss?

1) The Milky Way 2) Major categories of galaxies

3) How elliptical galaxies are formed 4) Differences between irregular and spiral galaxies
57-According to the passage, new stars are formed in spiral galaxies due to ... .

1) an explosion of gas 2) strong radio emission

3) the combining of old stars 4) the compression of gas and dust
58-The word “symmetrical” in paragraph 2 is closest in meaning to ... .

1) proportionally balanced 2) commonly seen

3) typically large 4) steadily growing

59-According to the passage, which of the following in NOT true about elliptical galaxies?
1) They are the largest galaxies.
2) They mostly contain old stars.
3) They contain a large amount of interstellar gas.
4) They may have a spherical shape.
60-Which of the following characteristics of radio galaxies is mentioned in the passage?
1) They are a type of elliptical galaxy.
2) They are usually too small to be seen with a telescope.
3) They are closely related to irregular galaxies.
4) They are not as bright as spiral galaxies.
61-The pronoun “Their” in the last paragraph refers to ... .
1) light years 2) telescopes
3) reptiles 4) luminous objects
62-Why does the author mention the Virgo Galaxy and the Andromeda galaxy in paragraph 3?
1) To describe the effect that distance has on visibility.
2) To compare the ages of two relatively young galaxies.
3) To emphasize the vast distances of the galaxies from Earth.
4) To explain why certain galaxies cannot be seen by a telescope.
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PASSAGE 2:

Seismologists have devised two scales of measurement to enable them to describe and record
information about earthquakes in quantitative terms. The most widely known measurement is the
Richter scale, a numerical logarithmic scale developed and introduced by the American seismologist,
Charles R. Richter in 1935. The purpose of the scale is to measure the amplitude of the largest trace
recorded by a standard seismograph one hundred kilometers from the epicenter of an earthquake.
Tables have been formulated to demonstrate the magnitude of any earthquake.

From any seismograph, for example, a one-unit increase in the magnitude translates into an
increase of thirty times in released energy. To put that another way, each number on the Richter
scale represents an earthquake ten times as strong as one of the next lower magnitude. Specifically,
an earthquake of magnitude 6 is ten times as strong as an earthquake of magnitude 5. On the Richter
scale, earthquakes of 6.75 are considered great and 7.0 to 7.75 are considered major. An earthquake
that reads 4 to 5.5 would be expected to have caused localized damage, and those of magnitude 2 may
not be felt.

The other earthquake assessment scale, introduced by the Italian seismologist Giuseppe Mercalli,
measures the intensity of shaking, using gradations from 1 to 12. Because the effects of such shaking
dissipate with distance from the epicenter of the earthquake, the Mercalli rating depends on the site
of the measurement. Earthquakes of Mercalli 2 or 3 are basically the same as those of Richter 3 or 4;
measurement of 11 or 12 on the Mercalli scale can be roughly correlated with the magnitude of 8 or 9
on the Richter scale. In either case, the relative power or energy released by the earthquake can be
understood, and the population waits to hear how bad the earthquake that just passed really was.

It is estimated that almost one million earthquakes occur each year, but most of them are so
minor that they pass undetected. In fact, more than one thousand earthquakes of the magnitude of 2
or lower on the Richter scale occur every day.

63-What is the main topic of the passage?

1) The Mercalli scale 2) The Richter scale

3) Charles R. Richter 4) Seismography

64-According to information in the passage, what does the Richter scale record?

1) The distance from the epicenter

2) The amplitude of the largest trace

3) The degree of damage

4) The location of the epicenter
65-What is the function of the tables?

1) They allow us to interpret the magnitude of earthquakes.

2) They help us to calculate our distance from earthquakes.

3) They record all earthquakes.

4) They release the energy of earthquakes.
66-How does each number on the Richter scale compare?

1) Each number is one hundred times as strong as the previous number.

2) The strength of the magnitude is one less than the previous magnitude.

3) Each magnitude is ten times stronger than the previous magnitude.

4) The scale decreases by five or six for each number.
67-What does the author mean by the statement “Because the effects of such shaking dissipate with

distance from the epicenter of the earthquake, the Mercalli rating depends on the site of

measuerement”?

1) The Mercalli rating will vary depending on the location of the measurement.

2) The results of the Mercalli rating are less accurate in greater distances from the epicenter.

3) The stronger shaking of the earthquake at the center is not detected by the Mercalli rating.

4) The Mercalli rating 1s useful because it 1s taken farther away from the center of the earthquake.
68-The word “undetected” in paragraph 4 is closest in meaning to ... .

1) with no damage 2) with no notice

3) with no name 4) with no problem major
69-With which of the following statements would the author most probably agree?

1) Only the Richter scale describes earthquakes in quantitative terms.

2) Both the Richter scale and the Mercalli scale measure earthquakes in the same way.

3) Most earthquakes are measurable on either the Richter or the Mercalli scale.

4) The Mercalli and the Richter scales are different but they can be compared.
70-The passage discusses all of the following in the explanation of the Richter scale EXCEPT ... .

1) it was introduced in 1935

2) it was developed by an American seismologist

3) it has a scale of 1 to 12

4) it measures the magnitude of carthquakes
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